
Other Questions

BMAT Section 1: Critical Thinking 

 1© 2020

BMAT Q17 (2003)

1. 

Here, the answer is B.   

The paragraph states that the lower the concentration of fertiliser residue the lower 
in the soil per cubic meter, the higher the number of nematode worms found. 


This relationship is expressed by statement B, which explains that such a 
relationship is a negatively correlated one. As one factor decreases (fertiliser residue 
in the soil) another factor increases (nematode worms). 


Statements A & D are incorrect because there is no mention of this in the 
paragraph. 


Statement C is incorrect because we cannot for certain say that removing fertiliser 
residue would lead to the expansion of nematode worm populations. Statement B 
better captures the relationship between the two variables discussed in the 
paragraph. 
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BMAT Q22 (2003)

2. 

Here, the answer is E.   

The passage only gives us information that the coins were found amongst Roman 
debris. Given the dates of the three coins, we can assume that they were 
abandoned in or after 157 AD. Given their date stamps, we are assuming that they 
could have been used up until 157 AD. 

http://www.medicmind.co.uk


Other Questions

BMAT Section 1: Critical Thinking 

 3© 2020

BMAT Q4 (2005)

3. 

Here, the answer is A.   

The statement states that galaxies tend to move apart from each other but can 
however collide. This all occurs within the parameters of the universe, which is 
expanding. Therefore, in order for both statements to be compatible with each 
other, i.e. have galaxies that normally move apart from each other but may collide, 
local movement is independent of overall expansion. This is summarised in 
statement A. 


Statements B-E are incorrect because there is no mention of such information in 
the text. They also do not explain how these two parameters can occur 
simultaneously. 
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BMAT Q17 (2005) 

4. 

Here, the answer is E.   

The passage explains that wind farms are commonly used on land for agricultural 
purposes. It then explains how the landscape over time has changed, for example 
with the growing of crops. Since the text mentions the changing of landscape with 
an activity such as crop growing, we can assume that the landscape will change 
according to human activity. This is summarised in statement E. 


Statement A is incorrect because there is no mention of the changing of 
landscapes  for industrialisation purposes. The statement is too specific, as it is 
implying that natural beauty of the countryside cannot be accredited its beauty due 
to heavy industrialisation. Statement E is not as bold and specific compared to A. 


Statement B is incorrect because we cannot assume that areas on which wind 
farms have been set up were not beautiful before their instalment. 


Statement C is also incorrect because there is no mention of carbon emissions in 
the paragraph. 


Statement D is incorrect because there is no mention of energy production and its 
impact on the environment. 
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5. 

BMAT Q2 (2007)

Here, the answer is C.  

The phrase ‘uniquely dangerous’ is the most suitable option here. The nature of the 
passage portrays WMD to be very dangerous as they were previously used to kill 
people at Hiroshima and Nagasaki. The use of the phrase ‘supposed to fill us with 
special dread,’ before the omitted phrase, also alludes to these weapons being 
dangerous. This justifies the word ‘dangerous’ in the phrase. The word ‘uniquely’ is 
justified as the passage goes on to explain how WMD are not the only class of 
weapons that have caused great destruction. Therefore, WMD are not the only 
uniquely dangerous weapons available.  
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BMAT Q24 (2007) 

6. 

Here, the answer is D.   

The internet is not necessary for globalisation because it explains that 
communication and the exchange of ideas can be achieved without the internet. 
The internet is neither sufficient for globalisation as the passage states that 
globalisation requires the transportation of goods. This is something the internet 
cannot do. Therefore, the internet is neither necessary nor sufficient for 
globalisation, which is stated in statement D.  
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BMAT Q1 (2008) 

7. 

Here, the answer is A.   

The statement gives you information about Malgons, Zanders and Tvints. 


We know that all Malgons must be Zanders. All Zanders are Tvints as well. 
Therefore, Zanders must be either Malgons or Tvints. This is what is stated in A. 
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8. 

BMAT Q6 (2008)

Here, the answer is D.  

Statement 1 is correct because the survey could have been conducted on males 
aged 45-54 that use different digital applications than those that were questioned in 
the survey. 


Statement 2 is also correct because a single survey cannot accurately reflect that 
there truly is a growing digital divide between the 15-19 and 45-54 age groups. 
Several studies may be needed to support this argument. 


Statement 3 is incorrect because there is no evidence to show that the evidence 
was not based on a representative sample. 
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9. 

BMAT Q13 (2008)

Here, the answer is E.    

Statement 2 is correct because ’34% of those questioned thought that cars contributed 
more than planes to climate change, while 40% thought planes contributed more than 
cars.’ Statement 2 is therefore correct as cars emit greater tonnes of carbon dioxide than 
flights do in the UK during the course of a year. Thus statement 2 is correct as some 
people (those that were questioned) are mistaken about the proportion of carbon dioxide 
that flights and cars contribute towards climate change. 


Statement 3 is correct as the final sentence implies that those who are against air travel 
may however not be willing to fly less often; ’47% thought that air travel should be limited, 
but only 15% were willing to fly less.’ 


Statement 1 is incorrect because the passage simply says that people’s opinions have 
changed which happened to coincide with increased activity by pressure groups opposed 
to air travel. It is not stating that opinions were changed due to the pressure groups. 
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BMAT Q17 (2008) 

10. 

Here, the answer is A.   

The writer expresses that celebrities tend to be contradictory with what they say and 
what they do in order to decrease the damage done to the environment. It is not up to 
celebrities to tell the general public how to behave, if they themselves do not act 
differently. Thus, the writer concludes by saying that no change will be implemented on 
his/her behalf by saying; ‘rather than let these people lecture me about what I could do, I 
left my TV on standby and went for a drive.’ This implies that celebrities do not have an 
affect on the general public in ways in which they can change to improve the 
environment. However, statement A challenges the author’s perspective if celebrities 
tend to have a greater appeal than politicians and environmentalists do and are thus 
more likely to influence the public. This means that the public would be more likely to 
change their behaviours if a celebrity told them to compared to a politician or an 
environmentalist. 
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BMAT Q2 (2009)

11. 

Here, the answer is B.    

The advertisement above states that ‘the debate amongst feminists over whether childbirth should 
take place away from the hi-tech environment of the labour ward or surrounded with as much pain 
relief and medical intervention…’, implies that pain relief and medical intervention are only available in 
high tech medical environments rather than at home. Therefore statement B is correct.


Statement D is incorrect because it is not explicitly stated that feminists are strongly opposed to the 
medicalisation of childbirth. 


Statements A, C & E are incorrect as there is no mention of any such information in the issue above .
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12. 

BMAT Q26 (2012) 

Here, the answer is D.    

The argument is saying that if all art is copying, then forgery (which is considered 
copying), must therefore be art as well. Just because copying and forgery are both 
regarded as being art, that copying and forgery are therefore synonymous. This 
error in the argument structure is presented in statement D.  
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BMAT Q6 (2013) 

13. 

Here, the answer is C.  

The passage explains that the Clovis people had managed to migrate from the top 
of Siberia to Alaska around 13,500 years ago, which is equivalent to 11.500 BC, 
when there was a ‘brief window of opportunity’ when the sea level was low enough 
for the Clovis people to cross a now-submerged land bridge between Siberia and 
Alaska. Therefore, statement C most challenges the Clovis-First theory because if 
human settlement in America was dated to around 12,000 BC, then it is unlikely that 
the first settlers were the Clovis people from Siberia. 
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14. 

BMAT Q13 (2013) 

Here, the answer is D. 


The passage concludes by stating that if a treatment provides a desirable outcome 
to a patient, it should be offered by the NHS even if the treatment prescribed is a 
placebo medication. Therefore, statement D is correct as it states that treatments 
should be given to patients based on their outcomes. 


Statement A is incorrect because it is too bold in stating that doctors should only 
use treatments that they know will work. This cannot be assumed to be correct with 
a placebo treatment, as there is no active ingredient in a placebo medication. 


Statement B is incorrect because there is no mention of this in the paragraph. 


Statement C is incorrect because this would weaken the above argument rather 
than supporting it. 


Statement E is incorrect as placebo treatments are not explicitly mentioned to be 
proven. Thus this does not act to strengthen the argument. 
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BMAT Q28 (2013) 

15. 

Here, the answer is D.   

The statement summarises that many children are not ready to face the truth about 
where meat comes from at such a young age, as it may cause damaging 
consequences to the children. Statement D supports the overarching argument of 
the passage as children should be protected from harm that may be caused from 
the reality of where meat comes from. 


Statement A is incorrect as this would weaken the argument. 


Statement B would weaken the argument but is also irrelevant as there is no 
mention about parents educating their children about life and death specifically. 


Statement C is incorrect because this too would weaken the argument, much like 
statement A would. 
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16. 

BMAT  Q23 (2014) 

Here, the answer is D.  

Statement D is correct here because the passage discusses the fall of ‘incidence 
of new cases of dementia,’ which has coincided with a fall in heart disease and 
improved blood vessels in the elderly. Thus it is trying to explain that a fall in 
incidence of new cases of dementia could be due to an improvement in blood 
vessels in the brain. This is stated in statement D. 


Statement A is incorrect because it is too bold with the use of ‘must be the 
explanation.’ 


Statement B is also incorrect because it is too bold and because it does not 
mention that improved blood vessel health could be the reason for a decrease in 
the incidence of any new dementia cases. 


Statement C is incorrect because it is too bold and is saying for certain that 
improved  blood vessel health in the brain, is the reason for a decreased incidence 
of any new dementia cases. 
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BMAT Q13 (2017)

17. 

Here, the answer is B.   

Statement B is the best statement that most logically completes the overarching 
conclusion. The previous sentence informs us that when there was a previous drop 
in selenium levels in the ocean, an extinction event occurred. Thus, the fall in 
selenium could have been a contributing reason in the three incidences of the 
extinction of marine animals. 


Statement A is incorrect because it is too bold when it states that this ‘must be the 
explanation.’ The passage does not explicitly state that the fall in selenium is the 
primary or sole reason for the extinction of the three marine animals. 


Statement C is incorrect because it cannot be assumed that selenium is a more 
important element than the other elements, as this is not explicitly stated. 


Statement D is incorrect because, much like statement A, it is too definitive in 
saying that selenium is solely responsible for the extinction of the three species. 
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18. 

BMAT Q15 (2017)

Here, the answer is A.   

The argument in the passage is constructed such that there are two possible 
variables that could be the final outcome. The two variables in the passage are 1.) 
dust which formed the earth and 2.) bombardment by meteorites and the outcome 
of the argument is the source of water on earth. Deuterium is a measure of variable 
2.). Given that not much deuterium was found, variable 2.) is ruled out as a possible 
outcome. Therefore, the only plausible source of water on this earth is through dust 
that condensed to form earth.


Statement A follows the same reasoning. There are two variables, an outcome and 
a measure of a variable to prove or disprove one of those variables. Variable 1.) is 
acidic soil and variable 2.) is alkaline soil. The outcome is ability to grow flowers, in 
this case it is camellias. Given that camellias cannot tolerate alkaline soil, the soil on 
which camellias exist must therefore be acidic. 
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19. 

BMAT Q6 (2019)

Here, the answer is C.   

The passage explains that cost is usually related to how much value we place on a 
good or service. Generally, the greater the cost, the greater the value of the good or 
service. However, goods and services that are now free are commonly the most 
valued. Thus, it can be deduced that we need a different method to measure value 
of a good or service aside from cost. This is summarised in statement C. 


Statement A is incorrect because the paragraph suggests that value may be or use 
to be a good measure of the value of a product or service. It is also far too definitive 
to be correct with the use of the word ‘impossible.’ 


Statement B is incorrect as the paragraph specifically discusses the value placed 
on goods and services. Thus, statement B contradicts or weakens the argument. 


Statement D is incorrect because the general conclusion of the paragraph is that 
value is hard to determine and may need another method. Thus statement D does 
not fully capture the essence of the argument and thus does not directly support it.  

http://www.medicmind.co.uk


Other Questions

BMAT Section 1: Critical Thinking 

 20© 2020

20. 

BMAT Q29 (2019)

Here, the answer is A.  

Statement 1 is correct because we know that 40% climb and 70% swim. 
Therefore, 10% could do both. Bear in mind that the total percentage needs to 
come to 100%. Thus it is possible to assume that 10% out of 40% of those that 
climb also swim and thus could do both activities. 


Statement 2 is also correct because we know that there must be an overlap of 
people doing both activities as the total percentage comes to 110%. Thus, there is 
at least 10% of members partake in both activities. 


Statement 3 is correct because half of those that swim constitutes 20%. This is 
correct given that there is a 10% overlap between both activities. Thus, that gives a 
10% margin that could either do both sports or just climb.  
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